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Part A: Vocabulary
Directions: Choosetheword (1), (2), (3) or (4). Then mark it on your answer sheet.

1- Beforeyau ......... to the next question, you should take some time to make sure you're happy with
your answer so far.
1) prescribe 2) precede 3) proceed 4) preface
2- My first day of babysitting was an absolute ......... ; the kids spilled food all over the kitchen and
they wouldn't listen to anything | had to say.
1) invasion 2) enigma 3) condemnation 4) fiasco
3- Wewerevery unhappy with the ...... way the moving company tossed our boxesinto our new house.
1) haphazard 2) impatient 3) initial 4) neutral
4- Theauthor used ............ when he said the dog was " as big asa house" .
1) shortsightedness ~ 2) hyperbole 3) precision 4) pretension
5- | never thought you would get so upset about sucha.......... Matter.
1) contradictory 2) consistent 3) colloquial 4) trivial
6- The policewondered about theman's.......... for committing the crime.
1) inhibiytion 2) motive 3) impact 4) inspiration
7- While most club member s have agreed with the decision, | expect Ricky to ......... forcibly.
1) dissent 2) vanish 3) avoid 4) abate
8- "ltismyfirm.......... , " said the candidate, " that family far ms must r eceive gover nment help” .
1) speculation 2) safeguard 3) conviction 4) deprivation
9- You'll have a better chance of finding that unusual word if you look it up in a/an ......... dictionary.
1) skilled 2) publicized 3) cultured 4) unabridged
10- Because the hiker s planned to reunite at 4:00 P.M ., they paused to ............ their watches.
1) illuminate 2) reinforce 3) synchronize 4) chronicle

Part B: Cloze Passage
Directions: Read the following passage and decide which choice (1) , (2) , (3) , or (4) best first each
space. Then mark your answer sheet.

Herbicides, also commonly known as weed Killers, are pesticides used to kill unwanted plants. Selective

herbicides kill specific largets. (11) ........... the desired crop relatively unharmed. Some of these act by
interfering with (12) ............ and are often.synthetic mimics of natural plant hormones. Herbicides used to
clear waste ground. Industrial sites. Railways*and railway embankments are not selective (13) .......... al
plant material with which they. come into contact. Smaller quantities are used in forestry. Pasture systems,
and management of areas (14) .......... Aswildlife habitat.

Some plants produce natural herbicides. (15) ........... the genus Juglans (walnuts). Or the tree of heaven;
such action of natural herbicides, and other related chemical interactions, is called allelopathy.
11- 1) they leave 2) when left with 3) whileleaving 4) by leaving
12- 1) the weed of growth 2) the growth of the weed

3) the weed in growing 4) the growing of weed
13- 1) and kill 2) killer of 3) to kill 4) which kill
14- 1) where set aside 2) in which they are set aside

3) that set aside 4) set aside

15- 1) either 2) such-as 3) or 4) includes

Part C:.Reading Comprehension

Directions: Read the following passages and decide which choice (1), (2), (3) or (4) best fits each space.
Then/imark the correct choice on your answer sheet.

Passage 1:

By the end of the eighteenth century many characteristics of terrestrial magnetism were know. The qualitative
properties of magnets (e.g. the concentration of their powers at their poles) had been established. But the
accumulated observations were unable to provide a more fundamenta understanding of the phenomena because
they were not quantitative. A major advance was achieved by Charles Augustin de Coulomb (1736-1806), the son
of a noted French family, who in 1784 invented a torsion balance that enabled him to make quantitative
measurements of electrostatic and magnetic properties. In 1785 he published the results of hisintensive studies.
He edtablished the inverse-square law of attraction and repulsion between small eectrically charged balls.
Using thin. Magnetized steel needles about 24 inches (61 cm) in length, he also established that the attraction or
repulsion between their poles varied as the inverse square of their separation.
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16- What isthe passage mainly about?
1) An early study in terrestrial magnetism 2) The biography of Charles Augustin de Coulomb
3) Discovering a scientific formula 4) Attraction and repulsion of the earth's poles
17- What was needed to be done toward the end of the eighteenth century?
1) Improving the quality of the simple instruments
2) Giving more chance to talented people like Charles Augustin de Coulomb
3) Further investigation of the qualitative properties of magnets
4) More quantitative studies to discover characteristics of terrestrial magnetism
18- Which of thefollowing isNOT true about Charles Augustin de Coulomb?
1) He used stedl needlesin his experiments
2) He came from a poor family
3) He published the findings of his study in the eighteenth century
4) He measured a number of phenomena quantitatively
19- What doesthe pronoun "they" in line 4 refer to?

‘)

1) Phenomena 2) Properties 3) Observations 4) Magnets
20- What doestheword " established” in line 7 mean?

1) Proved 2) Challenged 3) Accepted 4) Restricted
Passage 2:

The Earth's past climate — including temperature elements in the atmosphere —has recently been studied
by analyzing ice samples from Greenland and Antarctica. The air bubbles'in the ice have shown that. Over
the past 160.000 years, there has been a close correlation between temperature changes and the level of
natural greenhouse gases, carbon dioxide, and methane. One recent analysis fromGreenland showed that at
the end of the last glacial period (when the great ice sheets began to-retreat to'their present position),
temperatures in southern Greenland rose from 5 to 7 degreesin about 100 years: Air bubbles are not the only
method of determining characteristics of the Earth's ancient climate history. Analysis of dust layers from
ancient volcanic activity is another such method; as is the study. of ice cores, which interpret past solar
activity that may have affected our climate.

21- What doesthe author state?
1) The greenhouse effect is destroying the planet's atmosphere
2) Temperatures in Greenland have been unusually stable over the past 100 years
3) There is more than one kind of information‘that scientists can use to determine the characteristics of the
Earth's early climate
4) Solar energy is the wave of the future
22- Which of the following is the main topic of the passage?
1) The study of ice cores
2) The Earth's past climate
3) Study of temperature and elements in the atmosphere
4) Analyzing methods of climate history
23- Which of the following doesthe phrase " glacial pericd" in line5refer to?
1) Aninterval of timewithin anice age
2) Current ice age occurring.during the last years
3) Time during which alarge part of the earth surface was covered with ice
4) Time without large ice sheet
24- What-does theweord " interpret" in line 8 mean?
1) Perform 2) Understand 3) Explain 4) Assimilate
25- Why'did thetemperaturein southern Greenland rise?
1) Because of the level of natural greenhouse gases
2) Because past solar activity affected our climate
3) Because the great i ce sheets began to retreat to their present position
4) Because of the relation between greenhouse gases, carbon dioxide and methane

Passage 3:

French physicist Charles Fabry found ozone gas in the atmosphere in 1913. At room temperature. Ozone
is a colorless gas: it condenses to a dark blue liquid at -170 F. At temperatures above the boiling point of
water, 212 F, it decomposes. Ozone is all around us. After a thunderstorm, or around electrical equipment,
ozone is often detected as a sharp odor. Ozone is used as a strong oxidizing agent and a bleaching agent.
Moreover, it is used for sterilizing drinking water. This gas is also highly reactive. For example, rubber
insulation around a car's spark plug wires will need to be replaced eventually, due to the small amounts of
ozone produced when electricity flows from the engine to the plug.
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26- What isimplied in the passage?

1) Ozone has no practical uses

2) Ozoneistheresult of pollution

3) Ozoneisanatural part of the Earth's atmosphere

4) High ozone levels in the atmosphere will cause large numbers of people to buy new car batteries
27- What doestheword " decomposes' in line 3 mean?

1) Breaks down 2) Intervenes 3) Deviates 4) Consumes
28- Which of thefollowingisNOT true?

1) Ozone is produced when electricity flows from the engine to the plug

2) Ozoneisapae blue gas with a distinct smell

3) Ozoneisrarein our atmosphere

4) Ozone is both a natural and a man-made product
29- Why does the author mention " sterilizing drinking water" ?

1) Ozoneis partially soluble in water 2) Ozone acts as a powerful oxidant
3) Ozoneis an unstable gas 4) Ozoneis colorless
30- Wher e does the above passage most probably appear?
1) A history of ozone generation 2) A chemical advertisement
3) Anintroduction to Charles Fabry 4) A technology fact sheet
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